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(1) FHRSHE - IEERAS - KFEFE DD
AHETN > —FEIC = SREIC = HIAE = @REIC = IEIC =SIEIERS h)
= MEIC = fwIkIC = Kx¥F = wmidkICc = —FIC
O @EEM: 11,000 — 8500 = 2,500 OBHE (F5IHE 22.7%)
(2) BERER - FRA - HSHY DY
AERTHN = —EIC = BHIC = BEgPkr = F=HEAERR (1)
= HfEIC = &HIC = Ha¥ = &EIC = —HIC
O mERME 14,750 — 8,500 = 6,250 1 O31F (1515 42.4%)
(3) HeX - n# - WAl <Y
BTN = JKIC = &RARIC = fERARER G4 = FmAER R
= @@ = 4RMN = SREIC = FHEIC = KkkFF = wHfdhic = NIKIC
O mEEME 11,3501 — 8500 = 2,850 OB (FI51F 25.1%)
(4) AEEE - -HIZY DY
AETIN > —®I1C = ({IlIc = HEles = A = AJIEIC = &«FIC = Fi
BR GA) = Hs = £&3IC = HEIC = #IEGHN =2 HEIC = —EHIC = 4AHEGAN
O @mEEH: 10,750 — 8,500 = 2,250 0315 (1515 20.9%)



